If the point (-2, 4) is on the graph of y = f(x), what point is on the graph of
y=f"1(—x+1)
Given f(x) = 12_—xx determine f~1(x), the inverse of f(x)

. The point (3, -4) is on the graph of y = f(x), what point is on the graph of

y=3f(4—-2x)—1?
If f(x) = x? — 1, determine the equation after the following
transformation: y = =2f(1 — x) + 2

. The zeros of a function y = f(x) are -2, 0, 5. Determine the zeros of the

functiony = %f(%x —6)

Given that the solid curve is f(x), what is the equation of the transformed
graph?
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